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Exlan| mA 1 -3 IAAH | A4 | 78175

4/15 456 A /Y BBTREVE 32 T A 420,000 420,000
1| 4/15 | e | BIRNEERE (R BrR S 8= H) 250,308 169,692
2 | 4/22| #wz | ARIFEIRI(4,840H] X 50%) 2,420 167,272
3 | 5/10 |mamwran g?‘fﬁjﬁg (AR ~ S 5431 12,110 155,162
4 | 5/13 |a#wrte | 20224F B H AR B 7 KAF has o F - FHOE 3,385| 151,777
5 [5/19 | #m# |HEF=—R{(1,298H X50%) 649| 151,128
6 | 6/7 | wmn %i%ggfgﬁ%ﬂv Multiport7 27544 3,740| 147,388
7| 7/7 |mEares | g (4/1~7/1) 74,985 72,403
8 | 7/7 |mwmummste| gy (4/3, 4/21) 2,552| 69,851

7/15 7-8-9H Sy EBSIR B =T AN 420,000 489,851
9 | 7/22 |memiat | E N R ECR BILRIR B4 e 1,400| 488,451

10/17 10-11-12 A 5y BUBSTE B & 52 1T AdL 420,000 908,451
10 |10/31| ##w |2 —{% 60| 908,391
11 |10/31| ##&# |~A27aSDA—K (128GB) X (6,771 X50%) 3,385 905,006
12 [10/31| #mn |E LR 1,320 903,686
13 | 11/21 | wermmnss | EEEA, 9,713 893,973
14 |11/21| ##siit (EprhH 26 (G446 A ~11 1 §5Kk457) 10,671 883,302
15 |11/21 | s | T TR 2R 46,291 837,011
16 |11/21| #mpree G5 P eE <UBF (B Fn4426 H ~10H 57) 11,872 825,139
17 (11/21| #mme |18 P AKE R (T FN44E8 H - 10 H &6k 457) 1,223| 823,916
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Exlan| mA 1 -3 IAAH | A4 | 78175
18 |12/16| #=mn |HHA LI 2,332 821,584
19 |12/16| wismre @@ﬁ%ﬁg%ﬁ\ifg% ) 244,485 577,099
20 |12/16 | memses |k (7/20~12/4) 226,482| 350,617
1/16 1-2-3 A Sy BUBSTE B 8 52 1 A 420,000 770,617

21 | 2/6 | wws# |ARIFHIRI(E, 750 X 50%) 1,375 769,242
23 | 3/16 | #wmn ilzagf@%”%%ﬁg%%ég;‘lﬂ'GH'SH-IOH- 13,878| 730,049
24 | 3/16 | s |2 T LT AR 45,555| 684,494
25 | 3/20 | ww | ) 62,658| 621,836
26 | 3/20 | s @f@ﬁ%ﬁgi?ﬁfﬁ 81,495/ 540,341
27 | 3/22 |mewisett |fic#e (1/3~14) manii, A28 265,999 274,342
28 | 3/31 | *#m# [EprE e (A4 ~ 5 b2 H 47) 4,433 269,909
99 | 3/31 | #sn ;@.i)ﬁﬁﬁx%ﬂr%(%%m@lzﬂ~%%n5$3ﬂ§ﬁﬂ€ 6,880 263,020
30 | 3/31 | wmpret |18 T AREE (B RI44E12 H - 642 H 55K 57) 455 262,565
31 | 3/31 |wermns i@iﬁﬁg@%ﬂ%g ) 42,000] 220,565
32 | 3/31 | wmE |[HBHMLL 3,566 216,999
33 | 3/31 |memizes |k (12/23~3/29) 86,656/ 130,343
34 | 3/31 | masms | fRE (2/9) 1,276 129,067
= it 1,680,000 1,550,933| 129,067
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